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QUESTION 1
If you need more fine-grained functionality than solidity offers out of the box:
A. you can incorporate inline-assembly to get better controls.

B. you have to import pre-compiled assembly files which are then hard-copied into the bytecode of the compiled solidity
file.

C. you can use Viper, the experimental assembly like language specifically to offer more flexibility.

Correct Answer: A

QUESTION 2

When a new block is mined:

A. a list of transactions as well as uncles is incorporated in the block. All gas that is used during those transactions is
added to the miners\\' balance. Also, the block reward is added to the miner. Then the same transactions are run again
by every participating node in the network to achieve consensus.

B. a list of transactions is incorporated in that block. Gas used during the execution is attached to the executing
contracts while the block reward is automatically spread across the mining pool to ensure a fair spread. Consensus is

reached by a special form of hash code.

Correct Answer: A

QUESTION 3

Address.Call vs. Address.Delegatecall:

A. Address.call() is used for calling other contracts using the scope of the called contract in terms of storage variables.
Address.delegatecall() is used for libraries, which uses the storage variables of the contract who called. Libraries are a
great way to re-use already existing code and delegatecall can make sure that no storage is used from the library,
instead it looks like the code is directly copied into the calling contract.

B. Address.delegatecall() is used for calling other contracts using the scope of the called contract in terms of storage
variables. Address.call() is used for libraries, which uses the storage variables of the contract who called. Libraries are a
great way to re-use already existing code and call() can make sure that no storage is used from the library, instead it
looks like the code is directly copied into the calling contract.

Correct Answer: A

QUESTION 4
It\\'s not possible to use inheritance from multiple sources in Solidity.

A. True
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B. False

Correct Answer: B

QUESTION 5

Solidity gets compiled:

A. to bytecode that can\\'t be understood by humans.

B. to bytecodes which are essentially opcodes running instruction by instruction.

Correct Answer: B
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